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# -*- coding: utf-8 -*-

DFY 60 L7 B,

B2 IZOOBNR LT Z OBIEERAT o 72 R import datetime
0 1 12 1 23 | 24 def sort(c=[i for i in range(25)],k=1):
for iin range(k,25):
13]22)20)2 3 for j in range(i+1,25):
191215 (4 |11 if clil>cfjl:
temp=clil
18|17 |6 |15] 14 clil=clj]
10 |9 17 |16 | 8 cljl=temp
L % return ¢
QRO DOF% 60 127 5, def sort5(x=[i for i in range(5)],k=1):
“ N - s 4= s for i in range(k,5):
BLREDOTD & BT 60 E7RoTND P, frei Lz for } in range(i+1,5):
TIFFNE S LE ANEZX THRE R EHEoRiT e biz if x[il>x[j]:
60 DEE T %, LIAoTHFES LAY 5 LoARE AL
RETDHILTHROOTE 60 (295, TFEITHL 1 xljl=temp
B2 ROZOMA 60 &72DMARDEDY R b return x
D, ZDY 2 b IAEDN 1 EDHRT, EY D 4 def inc(c=[i for i in range(25)],k=23,1=1):
EFOTRFWA 2ETE B bO&ES, Bl2IT FR) if clk+>=25
¢ = inc(c=c,k=k-1,1=1)
."‘. c=sort(c=c,k=k)

return c

ore

re=0
‘ ‘ for i in range(k+1,25):
if c[k]+1 == c[i]:

[ 3 ] d =clk]
clk] = c[i]
@ clil=a
if k<=22:
INZITEI LINE Y LOANEZ TERT S & 1c=sort(c=c,k=k+1)
re=
break
if re==0:
return inc(c=c,k=k,1=1+1)
else:
return c

def inc5(x=[i for i in range(5)],k=3,1=1):
if k<0:
return [0 for i in range(5)]
elif x[k]+1>=5:

L7 5 /k}%jﬂ@f)’%ﬁij‘éo 5 &J%jﬂ;ﬁ@@%(%ﬁ 4 x=inc5(x=x,k=k-1,1=1)
YT ARG THNEREDERIILER RN DOT, Z x-sorthlx=x ke=k)
DRTETFEATEEILEL 2 5, else:
ULD, @, @OB{EE BRI HIATHEY & L CHE Ay .
] or iin range(k+1,5):
FhEAEVERL L T <, if x[k]+1 == x[i]:
d = x[k]
x[k] = x[i]
x[il =d
if k<=2:
x=sort5(x=x,k=k+1)
re=1
break
if re==0:
return inc5(x=x,k=k,1=1+1)
else:
return x
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def replace(c=[i for i in range(25)]):
i=0
while i<5:
re=-1
if i==0:
while cl0]+c[1]+c[2]+c[3]+c[4]<>60 or cl[0]>c[1] or
cl1]>cl2] or c[2]>c[3] or c[3]>c[4]:
if c[0]>c[1] or c[0]+c[1]+c[2]*3>57:
c=inclc=c,k=1)
elif c[1]>c[2] or c[0]+c[1]+c[2]+c[3]*2>59:
c=inc(c=c,k=2)
elif c[2]>c[3]:
c=inc(c=c,k=3)
else:
c=inc(c=c,k=4)
elif i==1:
while c[5]+c[6]+c[7]+c[8]+c[9]<>60 or c[5]>cl6] or
cl6]>c[7] or c[7]>c[8] or c[8]>c[9] or c[0]>c[5]:
if c[0]>c[5] or c[5]+c[6]*4>54:
c=inclc=c,k=4)
elif c[5]>c[6] or c[5]+c[6]+c[7]*3>57:
c=inc(c=c,k=6)
elif c[6]>c[7] or c[5]+c[6]+c[T]+c[8]*2>59:
c=inc(c=c,k=7)
elif c[7]>c[8]:
c=inc(c=c,k=8)
else:
c=inc(c=c,k=9)
else:
while
c[5*il+c[5*i+1]+c[5*i+2]+c[5*i+3]+c[5*i+4]<>60 or
c[5*il>c[5*i+1] or cl5*i+1]>c[5*i+2] or cl5*i+2]>c[5*i+3] or
c[5*i+3]>c[5*i+4] or c[5*(-D]>c[5*1]:
if c[5*G-D1>c[5%1] or c[5*il+c[5*i+1]*4>54:
c=inc(c=c,k=5*i-1)
elif cl5*il>c[5*i+1] or
c[5*il+c[5*i+1]+c[5*i+2]*3>57T:
c=inc(c=c,k=5%i+1)
elif c[5*i+1]>c[5*i+2] or
cl5*il+c[5*i+1]+c[5*i+2]+c[5*i+3]*2>59:
c=inclc=c,k=5%*+2)
elif c[5*i+2]>c[5*i+3]:
c=inclc=c,k=5*+3)
else:
c=inclc=c,k=5*i+4)
if i>=1:
if c[0]>c[5] or c[0]+cl[1]+c[2]+c[3]+c[4]<>60:
re=0
else:
for j in range(i):
if j==0
if c[0]>c[1] or c[1]>c[2] or c[2]>c[8] or
c[3]>cl4] or c[0]+c[1]+c[2]+c[8]+c[4]<>60:
re=0
break
else:
if c[5*%j-51>c[5%j] or c[5*jl>c[5*j+1] or
cl5*i+1]>c[5%j+2] or c[5*j+2]>c[5*j+3] or c[5*j+3]>c[6*j+4] or
c[5*jl+c[5*j+1]+c[5*j+2]+c[5%j+3]+c[5%j+4]<>60:

re=j
break
if re==-1:
i+=1
else:
i=re
return ¢

def replace2(c=[i for i in range(25)],k=0):

a=[[0 for j in range(5)]for i in range(5)]
for i in range(5):
for j in range(5):
alilljl=c[5*i+jl
k=colreplace(a=a,k=k)
return k

def colreplace(a=[[0 for j in range(5)]for i in range(5)],s=0,k=0):
r=5-s
i=1
t=[0 for j in range(5)]
while i<r**4:
b=i
for j in range(4):
t[4-jl=b%r
b=int(b/r)
if
al0l[sl+al1][s+t[1]]+a[2][s+t[2]]+al3][s+t[3]]+al4] [s+t[4]]==60:
for j in range(1,5):
temp=aljl[s+t[j]]
aljlls+tll]=alj]ls]
aljl[s]=temp
aljl=sort5(x=aljl, k=s+1)
if §>=3:
if alo]{1]<al1][0]
a[0][1]<al3][0] and alol[1]<al4][0]:
k=crossreplace(z=a,k=k)
for j in range(1,5):
aljl=sort5(x=aljl, k=s)

and al0][1]<al2][0] and

else:
=colreplace(a=a,s=s+1,k=k)
for j in range(1,5):
aljl=sort5(x=aljl,k=s)
i+=1
return k

def transfer(c=[[0 for j in range(5)] for i in range(5)]):
txt='0123456789abcdefghijklmno’
t="
for i in range(5):
for j in range(5):
t+=txt[c[il [j]]
return t

def crossreplace(z=[[0 for j in range(5)]for i in range(5)],k=0):
Ist=crosslist(z=z)
t:"
length=len(lst)
d=[[0 for j in range(5)]for i in range(5)]
x=[0 for i in range(5)]
y=I0 for i in range(5)]
if length>=2:
for i in range(length-1):
for j in range(i+1,length):
for m in range(5):
for n in range(5):
d[m][n]=z[m][n]
for m in range(5):
x[m]=lst[i][m]
ylm]=l1st[j][m]
count=0
num=-1
for m in range(5):
if x[m]==y[m]:
count+=1
num=m
if count==1:
v=x[numl]
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if v!=2:

ik=0
while ik<5 or x[num]!=2:
if x[ik]==2:
x[ik]=v
x[num]=2
ik+=1
ik=0
while ik<5 or y[num]!=2:
if ylik]==2:
ylikl=v
ylnum]=2
ik+=1
d=colswich(d=d,m=2,n=v)

if num !=2:

x[num]=x[2]

x[2]=2

ylnum]=y[2]

y[2]=2
d=rowswich(d=d,i=2,j=num)

if x[0]+y[0]==1 or x[0]+y[0]==T:

nl=0
n2=0
for ik in range(5):
if x[ik]==0:
nl=ik
if x[ik]==3:
n2=ik
temp=x[n1]
x[n1]=x[n2]
x[n2]=temp
nl=0
n2=0
for ik in range(5):
if ylikl==0:
nl=ik
if ylik]==3:
n2=ik
temp=y[n1]
y[n1l=y[n2]
y[n2]=temp
d=colswich(d=d,m=0,n=3)

elif x[0]+y[0]==3 or x[0]+y[0]==5:

nl=0
n2=0
for ik in range(5):
if x[ik]==0:
nl=ik
if x[ik]==1:
n2=ik
temp=x[n1]
x[n1]=x[n2]
x[n2]=temp
nl=0
n2=0
for ik in range(5):
if ylik]==0:
nl=ik
if ylikl==1:
n2=ik
temp=y[ni]
y[ln1l=y[n2]
y[n2l=temp
d=colswich(d=d,m=0,n=1)

if x[0l+y[0]==4 and x[1]+y[1]==4
x[3]+y[8]==4 and x[4]+y[4]==4:

for ik in range(5):
if x[ik] !=ik:
jk=idx(x=x,r=ik)

x[jk]=x[ik]
xlikl=ik
d=rowswich(d=d,i=ik,j=jk)
k+=1
t+=transfer(c=d)
fl.write(t)
return k

def idx(x=[i for i in range(5)],r=0):
v=-1
for i in range(5):
if x[i]==r:
v=i
break
return v

def rowswich(d=[[0 for j in range(5)lfor i in range(5)],i=0,j=1):
temp=d/[i]
dlil=dlj]
d[jl=temp
return d

def colswich(d=[[0 for j in range(5)]for i in range(5)],m=0,n=1):
temp=[0 for i in range(5)]
for i in range(5):
templil=d[i][m]
for i in range(5):
dlil[m]=d[il[n]
for i in range(5):
dlil[n]J=templil
return d

def crosslist(z=[[0 for j in range(5)lfor i in range(5)]):
Ist=[]
x=[i for i in range(5)]
while x[0]+x[1]>0:
if
z[0][x[0]]+z[1] [x[1]]+z[2] [x[2]]+2[3] [x[3]]+z[4] [x[4]]==60:
y=I[x[0],x[1],x[2],x[8],x[4]]
Ist.append(y)
x=inc5(x=x,k=3,1=1)

return Ist
if _name__ =="__main_ "
now=datetime.datetime.now()
print "%d/%d/%d

%d:%d:%d"%(now.year,now.month,now.day,now.hour,now.minut
e,now.second)
f=open("record.txt","w")
f.write("start %d/%d/%d %d:%d:%d
"%(now.year,now.month,now.day, now.hour,now.minute,now.seco
nd))
f.close()
fl=open('mdata.dat’,'w")
counter=0
c¢ = [i for i in range(25)]
d = [i for i in range(25)]
N )5 S LSRN
c=replace(c=c)
while c[1]<12:—#& T 5/
for i in range(25):
dlil=cli]
counter=replace2(c=c,k=counter)
if c[5]'=d[5] or c[6]'=d[6] or c[7]'=d[7] or c[8]'=d[8] or
and  ¢[9]!=d[9] :
print c[0],c[1],c[2],c[3],c[4]
print c[5],c[6],c[7],c[8],c[9]," counter=",counter
c=inc(c=c,k=19)
c=replace(c=c)
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now=datetime.datetime.now()

print "%d/%d/%d
%d:%d:%d"%(now.year,now.month,now.day,now.hour,now.minut
e,now.second)

fl.close()

f=open("record.txt","a")

f.write("counter=%d "%counter)

f.write("finish %d/%d/%d
%d:%d:%d"%(now.year,now.month,now.day,now.hour,now.minut
e,now.second))

f.close()
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